BC-02

June — Examination 2023

B.Com. (Part I) Examination
Business Statistics
Paper : BC-02

Time : 3 Hours | [ Maximum Marks : 70

Note .— The question paper is divided into three Sections
A, B and C. Write answers as per the given
instructions.
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Section—A 2x7=14
(Very Short Answer Type Questions)

Note .— Answer all questions. As per the nature of the
question delimit your answer in one word, one
sentence or maximum up to 30 words. Each

question carries 2 marks.
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1. (1) Write any rwo functions of Statistics.
qifETeht & &5 af & FaEt |
(1)) Name any two sources of secondary data.
fgdioer stfersi & B Q¢ @[l & AW SR
(ii1) Write any #wo techniques of business

forecasting.
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(iv) Define regression.
AT hl IR shifSw |

(v) What is probability distribution ?
Wfshar sie | N qed § 2

(vi) What do you mean by weighted index

number ?

NIRA Fahich | STUHT F1 3T T ?
(vi1) Explain the meaning of Simple Events.
W TR k1 1Y THIET |
Section-B 4x7=28
(Short Answer Type Questions)
Note — Answer any four questions. Each answer should not

exceed 200 words. Each question carries 7 marks.
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2. What are the advantages and disadvantages of

secondary data ?

e el & 1 BEg 3R JHaH Td © 2
3. Calculate Arithmetic Mean :

THR HIET i AT HITST

Marks (Out of 50) [ No. of Students
0-10 14
10-20 35
20-30 11
3040 10
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4. Distinguish between correlation and regression. Section—C 2x14=28

TegaY T FATET § SR T Hifeg |
(Long Answer Type Questions)
5. What is the utility of Index number ? Explain.

GEHihl I F ST T ? THSE |

6. State the difference between seasonal variation and

Note .— Answer any two questions. You have to delimit
your each answer maximum up to 500 words.

cyclical fluctuations. Each question carries 14 marks.
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7. What is trend analysis ? How is it measured ?

vafa fagamo 1 & 2 3§ &9 "W S § 2

& T a9)
fder - forl 91 uvl & SW SIS 319 379 SR w1 SAfehan

8. What is time series analysis ? State its importance.

el SO TITEwT F & 2 THET Hew SRy 500 v=5i § 9 SifsT ) 9@ 999 14 3% H 8|

9. Tickets numbered 1 to 100 are shuffled and a ticket 10. What do you understand by probability ? Explain

is drawn. What is the probability of drawing an the addition and multiplication theorem of

odd number ?

’ probability.
19 100 & 3 B U 100 fehdl &1 oT=8 @@
fremet wF fewe fhen S §1 3@ S@ w1 W TR ¥ ST N EHHd § 2 WAl % 9 T
wifgewar & o fepren T feshe foom i w1 ¥ 2 T YA % IR H EHEe |
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11. What is tabulation ? Explain different types of

tables.
TR = B © 2 fafy= ger @) 9rfEn
HHART |

12. What is skewness ? How is it measured ?
foomar = ® 2 T8 Y AW S ¥ ?
13. What is Fisher’s Price Index number used for ?

Why is it considered to be the best ?

fRYR oo Fahich fRafeT g9 aar & 7 38 wdds

= HE T ?
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